
s|=;+ cfo÷cfDbfgL cg'dflgt oyfy{ s|=;+ Joo÷vr{ cg'dflgt oyfy{

1 g]kfn ;/sf/ tkm{sf] gu/kflnsf cg'bfg 15765000 15765000 1 rfn' vr{ 18455391.01 19548900

2 :yfgLo ljsf; z'Ns 8010000 8010000 2 k'FhLut vr{ 57395000 52939627

3 LGCDP sfo{s|d 5744000 8034000 3 lgsf;f lkmtf{ 0 1091000.00

4 /fh:j afF8kmf8 54000 0 4 df}Hbft÷a}s afFsL 0 674662.32

5 /fh:j afF8kmf8 /lhi6]«zg 5000000 6190674

6 hu]8f sf]if sfo{s|d Doflr 22500000 15373000

7 hu]8f sf]if sfo{s|d p=;= Doflrª 6500000 5000000

8 ;8s af]8{ sfo{s|d 3800000 5961027

9 cfGtl/s cfo 8000000 5951597.31

10 :yfgLo zflGt ;ldlt 45000 36500

11 ko{6g k'jfF{wf/ ljsf; sfo{s|d 0 3500000

12 ut df}Hbft 432391.01 432391.01

hDdf 75850391.01 74254189.32 hDdf 75850391.01 74254189.32
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